ASSEMBLY INSTRUCTION
KYTHIRA SINGLE MONITOR ARM WITH LED LIGHTS

ITEM CODE 70622

6}
T =~
v/ 0
)

Imported by JWA Furniture Pty Ltd, Qld, Brisbane Australia.
For any assistance with assembly or for missing parts please refer to your receipt

1




PRE-ASSEMBLY PREPARATION

Before you start:

1.

g

N AW

9.

Choose a clean, level, spacious assembly area. Avoid hard surfaces that may
damage the product

Take care when lifting. Product should be assembled as near as possible to the
point of use

Ensure that you have all required contents for complete assembly

Always read the assembly instructions carefully before beginning assembly.

Keep all hardware parts and packaging out of reach of small children.

Do not over tighten the screws and bolts as this may damage the threads
Assembly is to be carried out by a competent adult(s) ONLY

During assembly, children should be kept away from the product due to possible
risk to injury.

Do not use this item if any components are missing or damaged.

10. Please keep the instructions for future reference.

Allow 15 min For 1 person




PARTS LIST

TOOLS REQUIRED NOT INCLUDED

PARTS INCLUDED

«««m«. @
A 3

M4x12 (x4) M4x30 (x4) 12X5.8X16 (x4)

B 1 T

S=3mm (x1) S=5mm (x1)

c = ®

M4x10 (x1)

(x1)




STEP 1:

\Z Measure the thickness of the table

If 15-60 mm, install directly.

Loosen clamp screw until enough space is left for the edge of the desk.
Tighten clamp using clamp screw until mount is securely fastened to desk.

Adjust the Desk Clamp holes if
Desktop is thicker than 60 mm.

(.G e:xen)
wwoe:Xen

Loosen clamp screw until enough space is left for the edge of the desk.
Tighten clamp using clamp screw until mount is securely fastened to desk.




Install the arm to the base and fasten the screw in the back.

-
M4x12 A
For Curved Monitors @

For Flat Screen Monitors

A

Flush surface installation: Install 4 screws through Recessed surface installation: Put 4 spacers between
faceplate to monitor via mounting holes. faceplate and monitor. Install 4 screws through faceplate,
spacers to monitor via mounting holes.

- J




/
Insert the monitor along with the VESA plate to the arm and lock it.
-
/
NOTE: Increase the tension in "+" %
direction if the arm automatically sags,
decrease the tension in "-" direction if S=5mm
the arm automatically rises. B
Be sure to keep the arm in horizontal
position during adjustment. Or else, it
would be difficult to adjust the mount.
Use a hex wrench to adjust the height tension of the gas spring arm, to
\_ keep different weight of monitors still at any position.




STEP4:

(
Use a hex wrench to adjust the damp for swiveling and tilt.
\_ Turn counter-clockwise to reduce damping and clockwise to increase damping.
(
'e
Remove the cable cover from extension arm. Route the cables along the
\_ arms and put on the cable cover.




[el=0=]

Use USB cable for LED backlight embellishment.

- J

Product Care for Easy to Clean Material Items

To protect your furniture, we suggest the following:
e Avoid placing your furniture in direct sunlight.
® Do not place furniture directly under windows.

® Do not place sharp materials (knife, fork, etc.) directly onto
your furniture as sharp material may scrape and damage the finish.

® Do not place material with high temperature directly onto the surface
of your furniture.

e Clean up spills quickly. Water left over a prolonged period of time may
cause damage. Alcohol, perfume, nail polishes, aftershave and some
medication may cause severe finish damage if not cleaned immediately.

® Use a clean, soft, dry, lint free absorbent cloth to clean your furniture.
Do not use any detergent as they may contain ingredients that may react
and damage the finish.




